il

g
=
s
i

1. ¥¥4
EW4 BN T AR 2 X VT (D 1) ¥
JEATST NN LR BEEHS TR N

2. EBEAR
1) FEF4 NN E BHSESHHHT THRE
267 H H &f1 74 7H 8H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
AEFBIL, NNZ LDENOHEREEITO DO TH D,

4) FEHBNA
BIK, BoiefERO®@ Y,

E+sZi@E SN



BN

Tl
P

==
=]

WA | DR TEER . KA (20 1) ¥ ¥ HYE A
H H —FRA
THH - THE - FER BT #H = 4 H OB N AR
— AR = 34, 084, 748
B AT 2V 30, 821, 780
AR —1 > 7 52V 28,559,900 | +ER—Y 7 (/) rarR—1 v
7) 50 m
BEE U Y 10b, 50mEL T, $h1E T 7, ¢ 66
mm
TER—V T rari—Yv
7) 65 m
TR U0 40, 50mEE~80mLL T, $hiE.
77, ¢ 66mm
TER—=V 7 (F—nar7h—U
) 20 m
TR UV 40, 50mEE~80mLL T, $hiE.
73, ¢ 86mm
EER—) T (A—naTR—Y
N 105 m
#JCE, 50mtA~80mLL T, $ATE. T H, ¢ 86m
m
R —Y S (F—LaT A=
N 20 m
FiEE, 50mEAE~80mEL T, $REL T H, ¢ 8
6mm
AT R—)L A% v —ELH
125 m
50mtA~80mLL T
BT 4 T R OUFALE R = 819,000 | BUEFE KR
6 [A]
TF— 7% 5 0mBN
KA AT = 228,960 | fRATETIA
1 =
-1- EEAZmE  Fu T R




i

i
T

ull
P

==
=]

EHL | AT EER L X HERE (F01) E5 E i A
H H — R
THH - T - fER] B fr % 4 % OB RR
19~ FAR BV 972,920 | BEVEIGaHA
1 =
TR A AL S
Ty 2 237,000 | FEFHRAIERE
1 X
TR E R 2y 4,000 | fREES
2 ZiS
EiEE ey =X 3, 262, 968
TERRE 2y 1,818, 160 | s
1 A
S— 2, 351,800 | Efjii L OWRA AT
1 =
Wk (R L 7R
1 A
% = 384, 200 | &R
1 A
ik Az X 493,084 | frc# (i E - 18I0F)
1 A
it T PR = 215,724 | S T/EEEE
1 =
EERA -+ WA = 34, 084, 748
R = 20, 645, 252
iS4 = 20, 645, 252
— R = 54, 730, 000
AT A = 2, 368, 957
EHEGE = 2, 368, 957
-2 - E A28 SUNHT R



= SR 2
H 5 FIR =
EBAL | DR TEER . I XHERE (T 1) ¥5 E A
H H TSR A
THH - T - fER] A7 # OB ORR
AT A = 2,368,957 | FHHEIYEH
1 kW
fEpT S A
1 X
RT AR—IL A % v —fifhr
125 m
Heim 52V 184, 200
Hei 52V 184, 200
e = 184,200 | ¥I&¢
1 A
B (Z Ot mER <) = , 553, 157
Z DA = ,104, 749
— I A = ,962, 094
MRS A = , 620, 000
FRATSES R = , 350, 000

E+sZi@E SN



